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Date: 19-06-2014
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1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
The resistance of wire varies inversely as
1. | A area of cross section B. length
C. resistivity D. temperature
The ratio of voltage and electric current in a closed circuit
2. ['A remains constant B. varies
C. increases D. falls
Resistance of 200w,250v lamp will be
3. | A 625 Q B. 1250Q
C. 312.5Q D. 31.25Q
Meggar is an instrument used for measuring
4, | A high resistance B. medium resistance
C. low resistance D. leakage current
A leading power factor implies
5 | A current leads the voltage B. current lags behind the voltage
C. voltage leads the current D. none of the above
DC generator works on the principle of
6. | A Fleming’s left hand rule B. lenz’s law
C. Fleming’s right hand rule D. none of the above
In large dc generators, the magnetic field is produced by
7. | A permanent magnet B. electromagnet
C. eitheraorb D. none of the above
The transformer action requires a
8. |A constant magnetic flux B. increasing magnetic flux
C. alternating magnetic flux D. alternating electric flux
The induced emf in a transformer depends on
9. | A frequency B. number of turns
C. maximum value of flux D. all of the above
The arrow in a transistor symbol indicates the direction of current in
10. [ A base B. collector
C. emitter D. None of these
The potential barrier acts as an barrier against the flow of
11. | A electrons only B. holes only
C. electrons and holes D. None of these
What voltage will an ac voltmeter display?
12. | A | rms B. average
C. peak D. peak-to-peak
Specific resistance is measured in
13, A. mho B. ohm
C. ohm -cm D ohm/cm
The phase angle difference between current and voltage is 90°, the power will be
14. A. minimum B. maximum
C. zZero D. V.1
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IfE1

= A.sinwt and E2 = A.sin(ot - 0), then

C. El leads E2 by 0 D. E1 leads E2 by 0/2
The RMS value of sinusoidal voltage wave v = 200sinwt, is
A [ 100\2V B. [200V
16.
C. |100V D. [200M2V
If one cycle of ac waveform occurs every milli - second, the frequency will be
17 A. 100 Hz B. 1000 Hz
" | C 50 Hz D. 10 kHz
If emf in a given circuit is given by e = 100sin628t, then maximum value of voltage and frequency will
be
18. A. 100 V, 100 Hz B. 100 V, 50 Hz
C. | 1002V, 100 Hz D. [ 50V2V, 100 Hz
The equation of alternating current is i = 42.4sin628t. Then the average value of current is
19 A. 4242 A B. 22 A
" | C 38 A D. 27 A
Flux is the equivalent of which electrical term?
20. | A. | Voltage B. Current
C. Resistance D. Conductance
Which electromagnetic device uses brushes and a commutator?
21. A A speaker B. A dc generator
C. A relay D. A solenoid
What is the magnetomotive force in a 150-turn coil of wire with 2 A flowing through it?
22. | A 13.33 mAt B. 75 At
C. 300 At D. 152 At
Which two values are plotted on a B-H curve graph?
23. | A. | Reluctance and flux density B. Permeability and reluctance
C. Magnetizing force and permeability D. Flux density and magnetizing force
The unit of flux density is known as
24. | A. | magnetomotive force B. weber
C. maxwell D. tesla
In "n" type material, majority carriers would be:
25. | A. | holes B. dopants
C. slower D. electrons
A commonly used pentavalent material is:
26. | A. | arsenic B. boron
C. gallium D. neon
In "p" type material, minority carriers would be:
27. | A. | holes B. dopants
C. slower D. electrons
When an electron jumps from the valence shell to the conduction band, it leaves a gap. What is this gap
8 called?
A energy gap B. hole
C. electron-hole pair D. recombination
Forward bias of a silicon P-N junction will produce a barrier voltage of approximately how many volts?
29. | A 0.2 B. 0.3
C. 0.7 D. 0.8
Which semiconductor material is made from coal ash?
30. | A. | germanium B. | silicon
C. tin D. carbon
How many valence electrons are in every semiconductor material?
31. | A 1 B. 2
C. 3 D. 4
What is a type of doping material?
32. | A extrinsic semiconductor material B. pentavalent material
C. n-type semiconductor D. majority carriers
Which of the following cannot actually move?
33. | A. | majority carriers B. ions
C. holes D. free electrons
34. | Which of the following material is not used as fuse element
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B.

Copper

A. Silver
C Aluminium

D.

Carbon

Which of the following quantities are same in all parts of series circuit?

35. | A Voltage B. Power
C. Current D. Resistance
An Induction Motor cannot run at synchronous speed because
36 A rotor torque will not be produced B. air friction will prevent it
" | C. induction motor will become D. none of above
synchronous motor
The process of connecting metallic bodies of all the electrical apparatus and equipment to huge mass of
37 earth by a wire having negligible resistance is called .
A wiring B. earthing
C. filtering D. harmonic reducing
The path along which electric current flows is .
38. | A, | Switch B. Electric circuit
C. Electric current D. Electric cell
is a safety wire which protects us from electric shocks and electric fire.
39. | A. | Earth wire B. Neutral wire
C. Live wire D. None of these
A fuse is normally a
40. | A current limiting device B. voltage limiting device
C. power limiting device D. power factor correcting device
Most of the fuses operate due to
41. | A heating effect of current B. magnetic effect of current
C. electrostatic effect of current D. none of the above.
The cost of Fuse is than other circuit interrupting device of equal
42 Breaking capacity.
A Cheaper B. Costlier
C. Same D. none of the above.
Which kind of time current characteristic a Fuse has?
43. | A. | Straight B. Non linear
C. Impulse D. inverse
For same material, heavy current fuse wire must have diameters than for smaller currents.
44, | A. | Larger B. Smaller
C. Same D. none of the above.
A Fuse element is
45, | A. | Plastic B. Rubber
C. Silver D. Insulated paper
46 A Fuse element should have melting point
" [ A. [ High |B. | Low
What is the full form of MCB ?
47. | A Miniature coil breaker B. Minimum current board
C. Mounted circuit board D. Miniature circuit breaker
Give the Full form of ELCB.
48. | A Earth leakage circuit breaker B. Electric light circuit board
C. Easy lighting circuit board D. Earth leakage circuit board
is one such device which senses the extremely small leakage currents and thus prevents
49 death, injury or fire arising from the electric shocks.
A MCB B. ELCB
C. Fuse D. All of above
Ammeter is used for measuring the
50. | A resistance B. voltage
C. inductance D. current
Ammeter is used in circuit with connection.
51. | A. | series B. parallel
C. Series - parallel D. none of the above
\oltmeter is used for measuring the
52. | A. | resistance B. voltage
C. inductance D. current
Voltmeter is used in circuit with connection.
53. | A. | series B. parallel
C. Series - parallel D. none of the above
54 The metal casings of domestic electric appliances like refrigerators, irons, mixers, electric heaters etc.

should be properly.
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B.

charged

A. lonized
C combined

D.

earthed

In a separately excited dc generator the field is connected to

55. | A In series with an armature B. Across the armature
C. To the external supply source D. None of the above
If we increase the field of the dc generator, its emf output:
A Increases indefinitely B. Increases till the magnetic saturation takes
56. place
C. Increases till the winding burns D. First increases and then starts reducing
Which machine is used for battery charging:-
57. | A. | Dc series generator B. compounded dc generator
C. Dc shunt generator D. none of these
In a Transformer , The primary flux is always the secondary ( flux).
58. | A. | more B. less
C. same D. none of above
The rating of transformer may be expressed in .
59. | A, | Kw B. kva
C. kvar D. hp
What will happen if the primary of a transformer is connected to D.C supply?
A Transformer will operate with low | B. No effect
60. efficiency
C. Transformer will operate with high D. Transformer may start to smoke and burn
efficiency
What does LED stand for?
61. | A Light Emitting Display B. Low Energy Display
C. Light Emitting Diode D. Light Emitting Detector
Name the three leads of a common transistor
62. | A Collector Bias Omitter B. Base Collector Case
C. Emitter Collector Bias D. Collector Base Emitter
The symbol is
63.
A. NPN Transistor B. PNP Transistor
C. Photo Transistor D. Field Effect Transistor
The symbol is
64.
A NPN Transistor B. PNP Transistor
C. Photo Transistor D. Field Effect Transistor
1,200mV is equal to:
65. | A. | 12v B. 1.2v
C. 0.12v D. 0.0012v
A DC voltage
66. | A. | risesand falls B. is a sinewave
C. remains constant D. is an audio waveform
Diamond is an
67. | A. | Conductor B. Insulator
C. Semi Conductor D. none of the above
Pentavalent impurities are
68. | A. | Donors B. Acceptors
C. Both D. None
Which kind of rotor is most suitable for turbo alternators which are designed to run at high speed ?
69. | A. | Salient pole type B. Cylindrical type
C. Both (A) and (B) above D. None of the above
Salient poles are generally used at
70. | A. | Thermal power plant B. Diesel power plant
C. Hydro power plant D. Nuclear power plant
E R e 2 e 2 o o e e o o
sl
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